Table1

Nomiﬁél_and Present Value of Tiltrotor Market at a $14,000,000 and $10,000,000 selling price

| units

Total Market Value

Total Market Value

. ; Unit Present Value Unit Present Valu
_ Year| Produced Price Nominal @ 7% Price Nominal @7%

1 10| $14,000,000 $140,000,000] $130,844,000}/$10,000,000| $100,000,000| $93,460,000

2 10| $14,000,000 $140,000,000] $122,276,000}|$10,000,000f $100,000,000| $87,340,000

3 10| $14,000,000] $140,000,000| $114,282,000($10,000,000] $100,000,000| $81,630,000

4 10| $14,000,000 $140,000,000| $106,806,000}$10,000,000f $100,000,000| $76,290,000

5 10| $14,000,000f $140,000,000] $99,820,000}|$10,000,000f $100,000,000{ $71,300,000

6 10| $14,000,000 $140,000,000] $93,282,000//$10,000,000f $100,000,000| $66,630,000

7 10| $14,000,000 $140,000,000] $87,178,000}/$10,000,000f $100,000,000| $62,270,000

8 10{ $14,000,000f $140,000,000] $81,480,000}/$10,000,000f $100,000,000| $58,200,000

9 10| $14,000,000f $140,000,000| $76,146,000|/$10,000,000f $100,000,000| $54,390,000

10 10| $14,000,000] $140,000,000] $71,162,000}$10,000,000] $100,000,000] $50,830,000

Totalsf 100 N.A. $1,400,000,000] $983,276,000 N.A. $1,000,000,000| $702,340,000
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